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36. Master budget profit plan. The following information is available for Year 1 for Simba

Products:
L]

Revenues (100,000 UNTES) -+ .+ v v v vv vt $725,000
Manufacturing Costs:

Materfals .......oociiiiiiiiiaiiiiiiiiiiiiiiieniiniinaas $ 42,000

Variable Costs . . 35,600

Fixed Costs (excluding depreciation) . 81,900

Depreciation (fixed) 249,750 409,250
Marketing and Administrative Costs:

Marketing (variable) $105,600

Marketing Depreciation s 37,400

Administrative (fixed) (excluding depreciation) 127,300

Administrative Depreciation ............. 18,700 289,000
Total Costs . 698,250
Operating PrOfits ... .. ... .uoueeeet et $ 26,750

All depreciation costs are fixed and are expected to remain the same for Year 2. Sales vol-
ume is expected to increase by 18 percent, but prices are expected to fall by 5 percent.
Materials costs are expected (0 decrease by 8 percent. Variable manufacturing costs are
expected to decrease by 2 percent per unit. Fixed manufacturing costs, other than deprecia-
tion, are expected to increase by 5 percent.

Variable marketing costs change with volume. Administrative costs are expected to
increase by 10 percent.

Prepare a master budget profit plan for Year 2. Use a format similar to the one shown in
Exhibit 9.7.
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VICTORIA’S GOURMET COFFEE
ERIRIE Master Budget Profit Plan (income statement)

|

Sales (70,000 units at $6)

$420,000
Variable Manufacturing Cost of Goods Sold (70,000 units at $3.67)

(256,900)
Variable Marketing Costs (70,000 units at $.14) 9,800)
Contribution Margin . ... . . . . . . . $153,300

(32,200)
(110,200)
$ 10,900

Fixed Manufacturing Costs

Fixed Marketing and Administrative Costs ($65,400 + $44,800)
Operating Profits
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10.23 Analyzing contribution margin changes. The Diaz Company, which sells hard hats for construction, provided the following data for years 1 and 2:

	 
	 
	 
	 
	Year 1
	Year 2

	Sales Volume
	 
	 
	 
	14,000 hats
	10,000 hats

	Sales Revenue
	 
	 
	 
	1,750,000
	1,500,000

	Variable Costs
	 
	 
	 
	(1,470,000)
	(1,050,000)

	Contribution Margin
	 
	 
	 
	$280,000 
	$45,000 


What impact the changes in sales volume and in sales price have on contribution margin? (Hint: Compare the actual, flexible budget portion of the profit variance analysis. Use year 1 as the “ Master Budget.”)

